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Fig. 2.9 | Arithmetic operators.
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C) Parentheses Evaluated first. If the parentheses are nested,
the expression in the innermost pair is evalu-
ated first. If there are several pairs of parenthe-
ses “on the same level” (i.e., not nested),
they're evaluated left to right.

* Multiplication Evaluated second. If there are several, they're
/ Division evaluated left to right.

0, "

% Remainder

+ Addition Evaluated last. If there are several, they're eval-
- Subrtraction uated left to right.

Fig. 2.10 | Precedence of arithmetic operators.
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Step 1.

Step 2.

Step 3.

Step 4.

Step 5.

Step 6.

72

=2 %5 %5 4+ 3 *5 4+ 7;
2 * 5 1s 10
* |
10 * 5 + 3 5 + 7;
10 * 5 is 50
|
Y
50 + 3 *5 + 7;
3 *5 isiin
|
Y
50 + 15 + 7;
50 + 15 1is 65
|
Y
65 + 7;
65 + 7 is 72
I
Y

(Leftmost multiplication)

(Leftmost multiplication)

(Multiplication before addition)

(Leftmost addition)

(Last addition)

(Last operation—place 72 in y)

Fig. 2.11 | Onderin whic > W
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Fig. 2.12 | Equality and relational operators.
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x is not equal to y

x s greater than y
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x is less than or equal to y
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Fig. 2.13: fig02_13.c

Using if statements, relational
operators, and equality operators */
clude <stdio.h>

* function main begins program execution */

main( void )

int numl; /* first number to be read from user */
int num2; /* second number to be read from user */

printf( "Enter two integers, and I will tell you\n" );
printf( "the relationships they satisfy: " );

scanf( "%d%d", &uml, &wum2 ); /* read two integers */
if ( numl == num2 ) {

printf( "%d is equal to %d\n", numl, num2 );
} /* end iT */

21 if ( numl != num2 ) {

22 printf( "%d is not equal to %d\n", numl, num2 );

23 } /* end 1 */
'Flg 2.13 | Using if statements, relational operators, and equality operators. (Part |
of 3.)
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24

25 if ( numl < num2 ) {

26 printf( "%d is less than %d\n", numl, num2 );

27 } /* end if */

28

29 if ( numl > num2 ) {

30 printf( "%d 1is greater than %d\n", numl, num2 );

31 } /* end if */

32

33 if ( numl <= num2 ) {

34 printf( "%d is less than or equal to %d\n", numl, num2 );
35 } /* end if */

36

3T if ( numl >= num2 ) {

38 printf( "%d 1is greater than or equal to %d\n', numl, num2 );
39 } /* end if */

40

41 return 0; /* indicate that program ended successfully */

42 1} /* end function main */

Fig. 2.13 | Using if statements, relational operators, and equality operators. (Part 2

pf3.)
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Enter two integers, and I will tell you
the relationships they satisfy: 3 7

3 is not equal to 7

3 is less than 7

3 is less than or equal to 7

Enter two integers, and I will tell you
the relationships they satisfy: 12 12
22 is not equal to 12

22 is greater than 12

22 is greater than or equal to 12

Enter two integers, and I will tell you
the relationships they satisfy: 7 7

7 is equal to 7
7 is less than or equal to 7
7 is greater than or equal to 7

Fig. 2.13 | Using i f statements, relational operators, and equality operators. (Part 3

of 3.)
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auto double int
break else Tong
case enum register
char extern return
const float short
continue for signed
default goto sizeof
do 17 static
Keywords added in C99

_Bool _Complex _Imaginary 1inline restrict

Fig. 2.15 | C's keywords.
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If student’s grade 1s greater than or equal to 60
Print “Passed”

2gd oo ol paased oy il cosyo Lo 3

Dgd oo Ay p) IS @CQQ)')QAS@QJ
if ( grade >= 60 ) {
printf( "Passed\n" );
} /* end if */
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true

grade >= 60 —> print “Passed”

falseg<

Fig. 3.2 | Flowcharting the single-selection i f statement.
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If student’s grade 1s greater than or equal to 90
Print “A”

else

If student’s grade 1s greater than or equal to 80
Print “B”

else

If student’s grade 1s greater than or equal to 70
Print “C”

else

If student’s grade 1s greater than or equal to 60
Print “D”

else

Print “F”
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if ( grade >= 90 )
printf( "A\n" );
else
it ( grade >= 80 )
printf("B\n");
else
if ( grade >= 70 )
printf("c\n");
else
it ( grade >= 60 )
printf( "D\n" );
else
printf( "F\n" );
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if ( grade >= 90 ) SR
printf( "A\n" );
else if ( grade >= 80 )
printf( "B\n" );
else if ( grade >= 70 )
printf( "c\n" );
else if ( grade >= 60 )
printf( "D\n" );
else
printf( "F\n" );
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1if ( grade >= 60 ) {
printf( "Passed.\n" );
} /* end if */
else {
printf( "Failed.\n" );
printf( "You must take this course
again.\n" );
} /* end else */

Wl (50 )5 ol aSisils 92-93 Js! Jlunes



o, 595501

oo gl sl olg e 1felse jleslal sl a Cobj o
o Pl S 5 asliy 50 50 Jle lsie 4y 0, oolanl 2

if ( grade >= 60 ) { Ao
printf( "Passed\n" );

} /* end if */

else {
printf( "Failed\n" );

} /* end else */

printf( "%s\n", grade >= 60 ?
"Passed" : "Failed" );
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product = 3: oF
while ( product <= 100 ) {

product = 3 * product;
} /* end while */
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true
product <= 1000 ~— product = 2 * product

falseé

Fig. 3.4 | Fflowcharting the while repetition statement.
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